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CALCULATIONS

Show the calculations for the first row of data in the spaces provided below. Enter the results of
all the calculations in the table.

1. Calculate the average volume for the three trials when no weight is added. Then calculate the
average volume for 1, 2, 3, and 4 weights.

2. Calculate the inverse for each of the average volumes.

3. Plot a graph using the average volumes as abscissas and the number of weights as ordinates.
Plot a second graph using the inverses of the volumes as abscissas and the number of
weights as ordinates.

QUESTIONS

1. On the basis of the graphs you have plotted, what is the relationship between the volume of
a gas and the pressure that is exerted on it?
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2. In plotting the graphs, the number of weights was used as one of the coordinates instead of
the amount of pressure. Explain why the shapes of the graphs would be the same in both
cases.

216 Boyle's Law
HRW material copyriahted under hotice appearing earlier in this work:





